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Answer all questions.

In 2010 Seeta and Paul set up Modern Furniture Solutions (MFS) which makes and sells office
furniture to businesses in the United Kingdom (UK).

(a) Seeta and Paul had to decide on a type of business ownership. They wanted the following:

(i)

(ii)

(iif)

(b) (i)

©OCR 2016

to keep control of their business

to be able to expand their business

to be able to raise additional capital from other investors

to not risk losing their personal possessions if the business fails.

Using the information above, identify the type of business ownership which would be
most suitable for Seeta and Paul.

...................................................................................................................................... [1]
How may the opening of MFS help other businesses and the public in the local area?
Other BUSINESSES ..........ooiiiiiiii e e
The PUDIIC ... e e e e e e e e e e e e anne s
[2]

MFS operates in both the secondary sector and the tertiary sector. State how MFS
operates in each of these sectors of industry.

Secondary sector

One of the original objectives of MFS in 2010 was to provide a good service.

Explain why it is important for businesses such as MFS to provide a good service.
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Explain two reasons why the objectives of MFS in 2016 may be different from its
objectives in 2010.

(R TSY=T=To ) o T

(c) In 2016 MFS has 50 employees. Each employee of MFS has a contract of employment.

(i) Other than each employee’s personal details such as name and home address, state
two pieces of information which should be included in a contract of employment.
L OO PP PRPTROPPPRP
2 PP UPPPPRPUPPRP

[2]

(ii) One of the employees of MFS is Rob, who is employed to assemble the office chairs for
its customers. MFS pays Rob on a piece rate system. Last year Rob assembled 1800
chairs and was paid £8 for each chair he assembled.
Calculate how much money Rob was paid for assembling 1800 chairs. Show your
workings.

L 1S
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[2]
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(iii) Explain one advantage and one disadvantage to MFS of using a piece rate system to
pay Rob.
AdVANTAGE ... ... e
DiSAAVANTAQGE .......ooooiiiiiiiiii e e e e e e eeas
[4]
(iv) Rob and other trade union members are concerned about the fairness of the piece rate
system and have threatened to go on strike. The management and trade unions at MFS
have agreed to refer the disagreement to ACAS.
Tick two statements in the table below that are true about ACAS.
Statement Tick (v) the two true
statements
ACAS gives advice to both management and the trade union in a dispute
ACAS provides pay for workers on strike
ACAS provides a meeting place for discussions to take place
ACAS researches the views of individual trade union members
[2]

©OCR 2016
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(d) The IT manager at MFS, Sasha, often works from home rather than at the offices of MFS. The
trend in the number of employees working from home has increased in the UK over the last
15 years.

(i) Explain one advantage and one disadvantage to MFS of having some of its employees
working from home.

Advantage

[4]
(ii) State one method of communication MFS can use to quickly contact Sasha at home
during the day.
...................................................................................................................................... [1]
(iii) State one potential problem of the method of communication you have chosen.
...................................................................................................................................... [1]
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(e) MFS motivates its employees using a range of non-monetary methods. Below are two such
non-monetary methods which MFS uses:

1 an employee award scheme
2 ademocratic leadership style.

Explain how each non-monetary method could motivate the employees of MFS.

An employee award scheme

©OCR 2016
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In 1970 Telecom Corporation (TC) was a public corporation selling a range of telecommunication
services (such as telephone services) to businesses and the public in the UK.

(@) (i) Choosing from the list below, tick (v) one box to identify the statement which is a correct
feature of a public corporation.

Statement Tick (V)
one box
A public corporation is owned by 20 partners
A public corporation is owned by the government
A public corporation is owned by family and friends
]

(ii) State and explain one advantage and one disadvantage to a business of it being a public
corporation rather than a public limited company (plc).

Advantage

(b) By 1986 TC had changed its ownership and become a plc. It is now called TC plc.

Explain how a change in the allocation of profits might affect the shareholders of a plc.

©OCR 2016 Turn over
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(c) Two stakeholder groups of TC plc are its owners and the public.

Analyse how the aims of these two stakeholder groups within a business may be in conflict.

(d) When deciding on its organisational structure, TC plc had the following options.

Option A An organisational structure with a short chain of command and a wide span of control.

Option B An organisational structure with a long chain of command and a narrow span of control.

Recommend whether TC plc should have chosen option A or B. In your answer you must
explain why you chose one option and why you rejected the other option.

©OCR 2016
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(e) TC plc needs a new Marketing Director. The directors have decided to use only internal
methods to recruit the new Marketing Director.

Explain whether using only internal recruitment methods is a good way to find a new Marketing

Director. In your answer you must refer to both the advantages and disadvantages of internal
recruitment methods.

©OCR 2016 Turn over
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(f)* TC plc received 50 applications for the Marketing Director position. Fig. 1 shows information
about the proposed selection process the directors are thinking of using.

Proposed selection process

e Shortlist only male applicants under the age of 45.

e Setatestin literacy and numeracy for 50% of the
shortlisted applicants.

e Tell the other 50% of the shortlisted applicants to
deliver a presentation to the directors on a subject of
the applicants’ choice.

e  Select the new Marketing Director based only on the
above.

Fig. 1
Using Fig. 1, advise the directors of TC plc on whether or not the proposed selection procedure

is both legal and likely to be effective in selecting a new Marketing Director. Give reasons for
your advice.

END OF QUESTION PAPER

©OCR 2016



11
ADDITIONAL ANSWER SPACE

If additional space is required, you should use the following lined page(s). The question number(s)
must be clearly shown in the margins.
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